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Product = Multiply

This is a uniform distribution 
because each card has an 
equal chance of being selected.

E(x) = 0.01(200 + 201 + 202 + ... + 298 + 299)

= 0.01[50(499)]

= 249.5 The expected value is 249.5

This means that the predicted value of the card that is selected 
is 249.5, and yes we know that this value can't actually turn up.
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p = P(5) = 0.1

a) P(Exactly two 5's) = 7C2(0.1)2(0.9)5

q = P(Not 5) = 0.9

n = 7

= 21(0.01)(0.59049)

= 0.2140...

b) P(At least four 5's) = P(4 5's) + P(5 5's) + P(6 5's) + P(7 5's)

= 7C4(0.1)4(0.9)3 + 7C5(0.1)5(0.9)2 + 7C6(0.1)6(0.9)1 + 7C7(0.1)7(0.9)0 

= 0.0025515 + 0.0001701 + 0.0000063 + 0.0000001

= 0.002728

The probability of having 
exactly two 5's in the serial 
number is about 0.2140

The probability of having at least four 
5's in the serial number is about 0.0027

c) P(All 5's) = 7C7(0.1)7(0.9)0

= 0.0000001
The probability of having all 5's in the 
serial number is 0.0000001 (1 x 10­7)

64 squares on a board

32 are black and 32 are white

The 5 checkers can be placed in 64C5 ways.

To have 3 on one colour is 32C3 and 2 on the 
other colour is 32C2

P(A) = 32C3 x 32C2

64C5

P(A) = 0.32266...

The probability of 3 checkers being on one colour 
and 2 being on the other colour is about 0.3227
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(i) Binomial distribution because the 
card is replaced

(ii) Hypergeometric distribution because 
the card is NOT replaced

b) Both graphs have a 
bell­like shape to them 
with the highest 
probability being one 
diamond. For 3 or 4 
diamonds the 
hypergeometric 
distribution has a lower 
probability because there 
are fewer diamonds that 
can be chosen.

c) The expected value for the binomial distribution is np = 4(0.25) = 1

The expected value for the hypergeometric distribution is                 
ra/n = 4(13)/52 = 1. So, on average we will expect to get one diamond 
from four selections, whether we replace the cards or not.
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